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1. Introduction
The present P-CR contains a proposal for the evaluation description of clause 5.2 (Alternative 2 for Warning Status Reporting) of TR 23.712.
This P-CR is a revision of C1-150804 which was postponed from CT1#90 and subsequently of C1-150917.
2. Reason for Change
New text.
4. Proposal

It is proposed to agree the following changes to 3GPP TR 23.712 v0.1.0.
* * * First Change * * * *

5.2.4
Alternative evaluation

5.2.4.1
Status of message broadcast
Requirement 1 (see clause 4) states that it shall be possible for the CBC to report, for each cell in the Warning Area, whether the warning message broadcast was successful or not. The Warning Status Report Indication allows the CBC to report whether broadcast was successful or not. 

Alternative 2 proposes to make it possible to generate reports at a number of pre-determined moments during the broadcasting cycle:

-
At the start of a message to determine if the message actually completed at least one broadcast repetition;

-
At the end of the message to establish a KPI for the alerting;

-
At intermediate times to determine if corrective actions are needed when broadcasting fails;

-
At ad-hoc moments.
The procedure is new for all involved nodes.

Requirement 1 (see clause 4) is fulfilled.
5.2.4.2

Status of broadcast readiness

The Warning Status Query Request procedure allows the CBC to determine, at any desired moment, if cells are capable of broadcasting warning messages without completing a single broadcast repetition of a message to the general public. This allows the operator to take corrective action, depending on the cause of the failure. For example, a cell may not have been configured for warning message broadcast or that warning message broadcast is not operational in a cell due to an error or due to maintenance activities.

The procedure is new for all involved nodes.
Requirement 2 (see clause 4) is fulfilled.
